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‘1. The only woman ruler to sit on the throne of Delhi
ultanate was

(A) Jahan-A_ra'

(B) Mumtaz Mahal ~ _

(C) NoorJahan 3 e
(D) Raziya Sultana

g e S R Tl S s
Ao A :
(A) wiz=El
 (B) “WeIE WgF
- (C) TFERN
(D) At e

| Teeett HeTaa T e H ATl T e o
8 (A) STEF-ST |
| - (B) HHAS HeA

(C) e

(D) IS Gerar

fewell HeraaH STEA TH Ues AT Aiee & :
(A) SEFE-3T '
(B) HHeS HET

(C) TSt

(D) fsran gerwm

2. Fillin the blank:
zA,, Y4B XC WD

(A) VE
- (B) EV
(C) VE,
D) VE,

X rE 239 A 3
ZA, Y,B, XC,, W,D,

(A) V,E

(B) EJV
©) VE,
(D) VE,
:l
ﬁaawaﬁn‘t -

ZAss Y,B, XCyy WD,
(A) V,E

®) EY

© VE,

(D) VE,

T nﬁ

ZA5, Y,B, XC, W.D,
(A) E

(B) EV

©) VE,
(D) VE,




3. Anauthorwho writes the story of another person’s
life in known as

(A) Historian
~(B) Biographer

(©) Chronicler

(D) Diarist

4. Choose from the following alternatives the word
which is opposite in meaning to the word “Ample”.
(A) Sufficient : =
(B) Rare
(C) Insufficient
(D) Enough

S. A copper sphere of radius 6 cm is melted to form
spheres of radius of 2 cm. How many such spheres can
be formed?

(A) 27
(B) 31
©) 14
D) 36

6 cm PN RMB G OIwiF (sliewa fF@ 2 cm
eI /IR 36 (ot (osi 91 A

(A) 27

(B) 31

(C) 14

(D) 36

6 cm T3 AT e % e TieTe i e 2 om
oo aret fefe TiieTeR ST ST el © 2

A) 27

B) 31

©) 14

D) 36

6cmmwmﬁqm2cmmaﬁ
mamlmaamaﬁ@? -

(A) 27

B) 31

(C) 14

(D) 36
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6. The change of state of a matter directly from solid
to gas is called
(A) Sublimation
(B) Condensation
(C) Evaporation
(D) Deposition

3 fS omirefa i S (U TR AR S
wASrEa Aferaia s == 8
= éA) T on
(B) 9IS
(C) e

(D) SACFA _
v @

o SR A Wi o sreen A ftmda
FRAT

(A) AT
(B) =Rt
(C) ardihTu
(D) @&

T e wfere’ mmmwmﬂﬁaﬁq ‘
T, = g A

(A) FATm
(B) ‘®rtentor
(C) arsdieur
(D) sE&T
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7. Conversion of 0-5% in decimal is
(A) 0-005
(B) 0.05
(C) 5/100
(D) 0:5%x 10

0:5% & Wit AT T3 o W9 23 ¢
(A) 0-005
&  (B) 005
(C) 5/100
(D) 0-5x% 10

0-5% = Swfes # YREfda w6 W 39 99 8
E‘?’ 0-005
) 0-05
(C) 5/100
(D) 0:5x%x10

0-5% 1 TfHR IREd T i T 507
(A) 0-005

(B) 0-05

(C) 5/100

(D) 0-5x10°

8. Rabindranath Tagore wrote underthe pseudonym
of
(A) Parasuram
(B) Birbal
(C) Bonophul
(D) Bhanu Singha

AANGAIL IFH @ WA fovares it =1 ¢
(A) “eaN

(B) A=< |
(C) g (
(D)-SigfcE

a1y TR fore w1 7w @ forea 92

(A) IREH
(B) sitaet

(©) TEA
(D) wrf¥E

@amu%ﬂwﬁ@aﬁmﬁam?
(A) TQUH
(B) &ret
(C) w gt
(D) wigfeE

9. A child who has lost both of his parents is called—
(A) A prodigy
(B) A vagrant
(C) A street child
(D) An orphan

10. Choose the correct antonym of the underlined
word: “Angels descend from heaven.”

(A) Blaze forth a9
(B) Float P L,_,_.,‘f\ \
(C) Gallop L

(D) Come down ( i

11. How many tiers are there in the Panchayat system
in West Bengal?

(A) Five
(B) Two
(C) Four
(D) Three

SRS SIS RZT B T 7
(A) sit5
B) ’

e,
€) Bt >
om
iR ST b R e # fh @
(A) d=
B) &
(C) IR
(D) &

| WWﬁvmmmmmww?
(A) ¥=
(B) §
(C) =R
D) d




12. The Right to Information Act was passcd
the year 3

(A) 1952

(B) 1977

(C) 2005 \
(D) 2000 N~

N
-->->,~:;~ . 2m+10

| O G S SRR W A AR 2 e

(A) 1952
(B) 1977 ] @ 7:3
~€)" 2005 ) 5:2 e j:__ 1o = ZwEL0 .'
(D) 2000 %9.2 ar1® _ ;a7 _
(D) 13:4 Hee - H 20
< e i rji,’;;f
Q")&l,"‘i" \D - 7 (»-’—"'-\ = __'. ShEs
e TEN G Y
O 10 =7ef e i =1 311 73 =1 a0 & A oW ot 12
g 1 stfusr sifufam fem od 1 5 2" “mmﬁﬂﬂ?ﬁmﬁﬁwmrw
(A) 1952 o — | .
B) 1977 (A) 7:3 gusan——s £
(C) 2005 e i
(D) 2000 © 3:2
(D) 13:4
410
L2 ) Q’)«.—-@ _
: ._m 10 = S foeeh 37 g vy i ot e 1 7
. AT faTan! Y T =T Wnﬁﬁwﬁaﬁm
Wﬂaﬁmaﬁ:ﬁm@qmmq@p g mmm@? &
(A) 1952 @A) 7:3
(B) 1977 ®) 5:2
© 2005 : © 9:2
(52000 (D) 13:4
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13. The age of the father 10 years ago was thrice the
age of his son. Ten years hence, father'sage will be twice
that of his son. The ratio of their present age is

(A) 7:3 :
(B) 5:2 S o F
(Cy 9:2
cp *
\0 4

(107 = IR T B TAAE e i,
mmﬂmmmqmlma
maﬂamw&mmz
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- 14. A rectangle has width of 5 cm and diagonal of
13 cm. Find its perimeter. '

(A) 34cm
(B) 36 cm
- (©) 30cm
_‘. (D) 38 cm

G0 TSTHET 2% 5 cm @R 3 13 cm A
| mﬁaﬂﬁﬁmwm?
! (A) 34 cm
| (B) 36 cm
: (C) 30cm
| (D) 38 cm

T 3TFd St AISE 5 cm q91 9 13 cm &1 TTH
- g ® !

(A) 34cm '

(B) 36¢cm
! (C) 30cm
(D) 38 cm

' TS EaH AR 5 cm THFW 13 cm B | IR

| (A) 34cm .

| (B) 36ecm
(C) 30 cm
(D) 38cm

15. The average age of mother and her six children is
12 years, which is reduced by 5 years if the age of the
mother is excluded. The age of the mother is

(A) 40 years |
(B) '48 years |
(C) 50 years
(D) 42 years

GG T G BT T AGIHI ITEF 51T 12 IS99 |
TR IT AN e (R 510 5 T2 0T AT | 7 I35 F9 2

(A) 403517
(B) 48 377 ’
(C) 5037
(D) 42 374

Ul CE 6 S: oFi 1 ofred g 1296 & 16t
;@ﬂwiﬁméﬂwmsaﬁwﬁﬁrﬁﬁ%lﬁﬁﬁm
(A) 40 =9
(B) 48 7
(C) 50 94
(D) 42 =

. IS HRN T SR B e i a1 12 9
T | STIH R ey i 311y 5 ket o g5 | ST
3 wfd B2 al 5 ,

(A) 40 34
(B) 48 99
(C) 5094
(D) 42 =



16. Find the exactnumber of squares in the following 17. Full form of FIR is
figure: A B (A) First Investigation Report
(A) 16 (B) First Information Report . 5
(B) 15 (C) First Incident Report
©) 12 (D) First Instance Report
(D) 18 !
D C :
2
% +gAqt lj
St =fRfoce qiib qsfewas 1Rt 2@ 8 R - T——
A) 16 A B (A). First Investigation Report
@B) First Information Report
(8,13 r (C) First Incident Report
© 12 L_{ J (D) First Instance Report cp
(D) 18 | . ‘ :
Yy | — &
3 3 fer d il A wEw e s .
A ' B . FIR F o &9 & ;
A) 16 m— (A) First Investigation Report
B) 15 _ (B) First Information Report
©) 12 (C) First Incident Report
D) 18 o . (D) First Ins@ce Report 16
Tefeguen! fommn sl vt g o
ne " | ;
(A) 16 FIR 9 q0f &9 &
(B) 15 ’T (A) First Investigation Report
©) 12 u (B) First Information Report
(D) 18 . ' (C) First Incident Report
D T e Y. (D) First Instance Report
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.18. Who was popularly known as ‘Sher-e-Punjab’? 19. A man has some hens and cows. If the number of
(A) Bhagat Singh heads be 48 and the number of legs equals to 140 then
(B) Jai Prakash Narayan the number of hen will be
(C) Lala Lajpat Rai (A) 22
: .. (D) Ram Monohar Lohia (B) 23
i | (©) 26
' (D) 24
‘G-l A Afife e ﬂwwﬁgﬁ% G F_ow foet | 7
f (A) ©ore e I SR GG T 48 <R AR GIIG 3161 1402, O
(B) & o e R it ol A e -
| (£) T wireere q1% (A) 22 \{D W\ 33
(D) A TR At (B) 23 ,{_{C y
(©) 26

(D) 24 ; b\ \b\D
O b\/\@ U

Tea s STE R S sam—p o SAfeR <6 T 5 it v e ¥ 1 ot

(A) T fefe T HEAT 48 1 T T M FereE 1409, Dyt gen
(B) T WehTSl TR art A ” :
(C) e SIsIad I EB; -
(D) T TR Thfean ©) 26
(D) 24
“IR-T-reTE’ A 1 e B2 4“@@32%%@‘“%@!@%@@
(A) v fo= Al 53 0 9T, Hfif e 9?2
(B) T WehIel A ®) 23
(C) ren ersda . ©) 26
(D) TH TR e (D) 24
JTl
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20. An autorickshaw is moving at a speed of 21. Each occupation has it own ; bankers,
40 km/hr for 2 hours and 30 minutes. If it reaches the lawyers and computer professionals, for example, all
destination in another 1 hour, then the total distance use among themselves language which outsiders have
; - covered by the auto will be ' difficulty to follow.
i (A) 120 km ; : (A) rewards
(B) 140 km (B) jargon
[ (C) 160 km - (C) disadvantages
(D) 200 km (D) merits
22. Which of the following are primary colours?
(A) Blue, Red, Yellow
@26 SHIRHA 40 kiv/hr AfSTaTs 2 9% 30 RS (B) Red, Yellow, Green
| 5Tz | W G ISR SIS 1 ¥ Aw e, ot (C) Yellow, Blue, Green
I b T @y Sfews e (D) Red, Blue, Green
(A) 120 km
(B) 140 km ; e @m aeskns @ Te <61 2 e
(C) 160 km (A)_ Ve, =14, 25
(D) 200 km (B) ==, 2= W, ALE -
| . (©) =, T, 7™ @
| YT, e,
e TR 40 fehofHo /sier =it ifq & 2. &2 30 fi Fafefes T # § PR Y AT E?
T € | el R I # A 38w e 3 @, < A (A) ften, s, den |
5 o g TR (B) @, dret, &1
(A) 120 = . ©) tﬁﬂ, 3'1?,"-’ =
(B) 140 f&fa. (D) =, e, &
1 (C) 160 frfa.
(D) 200 f&.fa. Frafafea g1 T Hifes T &7
(A) e, T, Ren
(B) T, weed, e
(C) e, Hfeh, BfEh
T ARG 40 km/hr it ifen 2 w1 30 fafe (D) TR, e, e
oD | T3 T T 1 30 38 1 5 TIes, qE ol 3 _
eI i T2 /ﬁ Opposite of “SYNTHETIC” is
(A) 120 km (A) Cosmetic
(B) 140km ) (B) Plastic
(C) 160 km "o (C) Natural
(D) 200 km (D) Artificial
\j
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_24. Change the following interfogative sentence into 26. Complete the series:
indirect speech: JAK, KBL, LCM, MDN el
He asked me “do you like music?” ' ’ , '
(A) He said that whether I like music. (A) OEB
(B) He told that whether you like music. (B) NEO
(C) He asked me whether I liked music.
(D) He asked me did you like music. (©) PFQ 3‘
' | 25. Which number replaces the letter *X’? (D) MEN -I':f
OJOR®
'@ (A) 263 | © : |
I (g) 353 ) @ ® e ol e ¢ |
| ED ) 2;: : JAK, KBL, LCM, MDN, i
) . | (A) OEB :
X % g @ i e (B) NEO 3
L ® ® (C) PFQ
@ ' (D) MEN
(A) 263 ' | | e
(B) 253 WO -5fg'
©) 273 P
(D) 283 T
5 34 g@en o :
A fed e o 3 SgER X A Em JAK, KBL, LCM, MDN,
: IORONR® (A) OEB
%? @ (C) PFQ
.!. (A) 263 (D) MEN
1-5 (B) 253 DRCER
(C) 273
(D) 283
X’ T SE HI FAEE TR a7
A T [T
JAK, KBL, LCM, MDN,
" (A) 263 (A) OEB
(B) 253 , ‘ : B INES ' { ;
(C) 273 | & R : i




RB/CN/2016
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27. The word “Jhum” is meant for— 28. When you see any traffic signal, which sequence
(A) Political movement in the North East of of signal do you observe from top to bottom?
India (A) Red - Green - Amber
(B) Agricultural activities in the North East of (B) Green - Amber - Red
i (C) Green - Red - Amber
(C) Tribal goddess of North East India (D) Red - Amber - Green

(D) Traditional dance form of North East India

b
. ,

(A T R @RS T TN * _ éawrﬁaﬁﬁwﬁww@ﬂcw%
(A) Taed SATSA AATSD SCHIEA FegczefaachelcRURIRIER

By Tarid oRTea 3 I | (A) @I - 7 - T

(C) Taned ©rared Borere (al (B) 1qE - W - F1eT

(D) Tweld SrTed 2bfers A1 (C) 7@ - o1l - T

, - (D) A - T - T @

v vzmmﬁmamﬁirﬁaﬁaﬂzm:ﬂﬂ%ﬁ
v v T 9§ fora & o e fovan i & frt ¥

(A) 9RA & YOI § T Teiaeh A= (A) @ - & - Fem
(B) WA ¥ YAl & U F¥ ey : B) 1 - drel - T
©) TRE & Al TSI <ol ' (C) & - T - e
(D) WA ¥ a1 T T | (D) = - drel - &
‘g’ Y SRR H H T2 : : T ferer meft e 9w, T I T 507
(A) WA iR T8 Terfi ST (A) T, R, v
(B) e e T3 FiY ey (B) &, T, T
(C) WG YaTe T T e <ot (C) =, T, vl

(D) MR @R @A™ (D) T, v, e
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9. Which day is observed as “World Environment
Day each year?

(A) 5th July
(B) 25th June ‘
(C) 5th June
(D) 15th June

Wmmﬁm@mmmm
?

(A) STEER

(B) 250 g
/_t'C/) 5% g

(D)-153 &=

W,

Torea weitertor feer = rerm fare fem o siar 22
(A) 5o

(B) 25

© 5+

(D) 15

forear e Feer T oo Wien 7
(A) 59

(B) 251

© 591

(D) 1597

12
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30. Inthecomputersoftware terminology, PDF stands

(A) Portable Document Format
(B) Portable Digital Form

(C) Printable Digital Format
tD) Printable Document Format

Computer Softwar-& PDF 32/ifb3 2Jeff% et zral ¢
}A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

ap

FX WRTR H Y=<elt # PDR 2 2
(A) Portable Document Format
(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format

P

FI HRIIR m:n PDF 3% ¥ 3‘0
(A) Portable Document Format

(B) Portable Digital Form

(C) Printable Digital Format

(D) Printable Document Format



(A) Knowledgeable
(B) Omniscient
(C) Clever

(D) Intelligent

32. A pump can fill 2 tank with water in 2 hoyrg
Because of a leak in the tank, it takeg 23 hours to fi) the:
tank. The leakl can empty the filled tank iy,

(A) 2 2 hours

(B) 8 hours

(C) 7 hours
4 hours

ﬁfﬂﬁuﬂﬁ%@ﬂ%%ﬁﬁ%ﬂm
G FW AP - Gl A TS Ay
23 D1 T T | 1=} BT v g <1 g ¢

(A) 2'31 oy
(B) 89%m
(C) 7 9%

@14%@1}3

T Zoht S UM ¥ WA T TR U 9 2 ey o
G T A o o 2 A w92 L st o
9t i fox @ @t = H 9ug o

(A) 25 ¥

(B) 8 S

(C) 7%

(D) 14 w2

TS 9l SifehAT 91 9+ g3 v eIes | W
aﬁmgﬂmmﬁﬂa%maﬁﬂﬁ%lm
Tl A1 Wi s v it i wwe wel gre?

(A) 2%5@ ;

(B) 8 5= i

(€) 79=

(D) 14 5=

GEain

13

33. The father was anxious .
his daughter.,

(A) at

(B) for

(C) about \\i 3
(D) with L@_

34. Whenaplotoflandissold for¥ 1 8,700, the owner
losses 15%. At which price the plot be sold in order to

gain 15%? W

(A) 22,500 A

(B) T 21,000 L ?UDJ L
1< l 187

(C) 25,300 \ WS

(D) %25.800 ﬁ

A
G & T 18,700, 51 Rz sace sRE e

15%%¥ﬂr§wﬁﬁwm&ﬁrpwwﬁmlsé
&® 3712 :

q‘
(A) £22,500 g F60 X —%?'
(B) % 21,000 : N
(&) T 25,300
(D) % 25.800 ,
A % TH THSH T 18,700 § 3931 W IGH AT

B 15% &l it ¥ 115% o e 38 sq ewe 9
T W =1 9ifee?
' (A) T 22,500

(B) T 21,000

(C) T 25,300

(D) T 25,800

A 1 TH g T 18,700 H1 = Aferwdt 15% i
D1 15% o e wr i wh W as) T

(A) T 22,500 :

(B) Z21,000 |

(C) T25,300

(D) T 25,800
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35, IfP denotes “+", R deriotes ‘x’, S denotes ‘- and
I' denotes ‘/’(+) then what would be the value of
SRO9P7S9T3P6?

(A) 55
(B) 39
©) 54
(D) 128

M P97 WY, 4+’ R-97 5l “x’, S-97 wq

TR T */(+) W, @5 RIP7S9T3P6-
CERIEEIAC -To |

(A) 55
(B) 39
(C) 54
(D) 128

TG P+ I Yo HT@l §, R ‘% N ghea -

® S W gfaa WA R, T /(+) B gfed = g, ar
S5ROP7S9T3P6%AAET:

(A) 55
(B) 39
(C) 54
(D) 128

A PH 19+, RA 3 %, ST aef Ty
& /(+) v, SROP7S9T3P 6 F A % g2

(A) 55

(B) 39

(C) 54

(D) 128

36. Which of the following is not a session of the
Indian Parliament?

(A) Summer session
(B) Winter session
(C) Monsoon session
(D) Budget session

BT @RGSR AATE ST 72
(A) TeEA S

(B) Treiaie wifdcaa

(C) I ST

(D) ANTEG W=l

0

TTH ¥ B W R ST AR 6
(A) HrsTeeny stfeem -

~ (B) ¥itehredi arferdem

(C) Tt STferdem
(D) S AAfeaem

TATSTR B AT HE = SAfdem 2rea?

- (A) TR ST

(B) Yol a1fydem
(C) aTRe aifudym
(D) = 3fidee

k4
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37. Which one of the following gland is located very 38. Arrange these four districts of West Bengal from
near the brain? | North to South :
(A) Pituitary gland (i) Burdwan
(B) Thyroid gland (u) B?mkura
(O Adrenal gland ((1113 f{g\‘:ﬁ:}‘:‘
i B (A) (i), i), @), )
(B) (1), (ii), (ii), (iv) |
(C) (i), (i), (i), (iv) |
(D) (), (i), (iii), (iv)
SR5TRTI FATEIE (o e Be (s ufae Wi
| S SR A
@ oifef TR TRew g w3, ¢t == ¢ Q)ij:ﬁrm
w o L+
51 WRAE L (iv) 2ee |
6y T IR (A) (), GiD), @, (%) 73

o wmm (V) _ ®) (), G, (@) (/]
(©) Gy @, (), (v)
D). ), ), i, (iv)
fves ST & 37 el SR AR EFFA A

Hod |
@) a%f__qﬁ
T QB o Uy AR & qod T9ais o7 (23 RIER]
(A) ‘P | (iv) T
(B) eEEs U A) Gi), (i), @), Gv)
(©) et i ' ' ®) @), Gii), (i), (v)
(D) s ©) (i), (), (i), Giv)

(D) (), (i), (i), Gv)
Tfem AgTeT e Teems Swi a1 S T

LEIEGE
(i) sHaH
- (ii) sty
et feuen % Tify A gad e © ((‘i“) RS
(A) fregerd tifa - - - V% -

~ (A) @), (i), @), (i‘I')
(B) wrligs ufy (B) (@), (i), (ii), (iv)

(C) et 1ify " (©) (i), (@), (i), (iv)
(D) =N “ : (D) (), (i), (i), (iv)
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39, Change the voice of the following sentence:
“Who is creating this mess?”
(A) By whom this mess is being created
(B) Who has created this mess.
(C) By whom is this mess being created.
(D) By whom has this mess been created.

40. Choose the correct synonym of the word
‘Insurgency’.
(A) Rebellion
(B) Hostility
(C) Attack
(D) Enmity

41. A clock loses 5 seconds a hour. If the time in the
clock is set right on sunday noon, then what time will it
indicate on monday noon (i.e., the next day)?

(A) 12:00 Noon
(B) 11:58 PM
©) 12:02PM
(D) 11:58 AM

a3 W% oS 9B 5 Giere w3 @& T |
Tl A== 7oiea (1261 ) wfefa s 5% wm et
R 00 GRS FoC (i #1033 et gofee) S 9 sy
(AT ?

(A) 12: 00 iz

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

e TS Ui s 5 Yave @l Wt § 19t uS w gm
tﬁannma?raﬁa?ﬁufﬁﬁmwa I 9aR T
1 IGH GHT BN

(A) 12 :00 941G

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM

THEL A o2 5 GHe & 0 | S AN o 1 umg |

AR Hea1g 9 T, ™ WHER H qeag 0 96y F5
TEEB?

(A) 12:00 99117

(B) 11:58 PM

(C) 12:02PM

(D) 11:58 AM
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42. Sum of two numbers is 45. Their difference is
1/9th of their sum. Their L.C.M. is
(A) 100
(B) 150
(C) 250
(D) 200

af6 TR s 45 | AR Rtz e
QIR 1/9 Six | AOA 717719, Z0A 8

&) 100 3
(B) 150 ST
(C) 250 K %
(D) 200 W T 0

31 3fehl 1 AMTHST 45 R | ST SR Sk ANTHeT
1/94i 391 % | SR L.C.M. 81 :

(A) 100

(B) 150

(C) 250

(D) 200

8 Sihehl ANTHET 45 2 | 3THR! e ATHS F 1/9
39 B | EH L.CM. F §?

(A) 100
(B) 150
(C) 250
(D) 200

43. A person who helps another to commit a crime is
called

(A) Colleague
(B) Accomplice
(C) Assistant
(D) Gangster




44. Introducing a boy, a girl said “He is the son of th
daughter of the father of my uncle. bliow is the b :

related to the girl? ﬁ X
(A) Nephew l /
(B) Cousin
(C) Brother R B’? ’Zf
(D) Son-in-la\fr J
= i
Aime, D

a3l e SfFfoe a7 T 93 o =
“q SR FI T N @ 191 0 @ (i sinel
& (R I TIH =
(A) izt

;@ PrTgs o2 _/v;\f;
) ©f% Gl
(D) &I fm&"mjﬁf =

Toh TS I U= &d g Ueh eTeehl  shal,  To W
;ﬂr%ﬁmﬂéﬁmﬁa%l"mmﬁ%@ﬁw

(A) rftsT

(B) BHU IE

(C) g

(D) SIS

TS S e i, e SRt v, B e
AT B! DI B | el TRl e F?

(A) fest
B) w
(C) i
(D) ST
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45. P,Q, R, S and T are five boys. Given that P is
taller than Q, R is shorter than P, S is taller than T but

shorter than Q, the tallest boy is
(A) P
®) Q
© T
D) R

~ P,Q.R.S, T slivem e, T P, Q-47 (A&
o1 2; R, P99 (A0 (2! TF; S, T-431 (AT o741 frg
wacwmwlwammmﬂmmmﬁw? »

(A) P
on R—P>8
(D)R. “Q‘ &_,?" R

P;Q,R, ST T U= ere% € 1A P, QW TaN §,
R,PETE, S, Tﬁmﬁﬁqﬂm% T T
e T € ,

(A) P

(B) Q

© T

(D) R

P, Q,R, S, T Ui %ere® &1 Afg P, Q W= w1,
R, P 9=I 81, S, T 9= ol T Q Wl SII T, T 9=
I HN?

(A) P

(B) Q

) T

©) R
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"l 46. The State with highest populatlon density is
(A) West Bengal
(B) Bihar
(C) Uttar Pradesh
(D) Maharashtra

T (O wriRat el e 2o ¢
(A) Ao
(B) Ra=

ol 3 S 9 9ol T §
(A) wf=m amer

(B) faeR

(C) SR ¥

(D) Herg

T W1 SHE! S T
(A) ufyem FgTe

(B) forer

(C) IR W

(D) 7eRE

47. Dipa Karmakar participated in which game in
Olympics?
(A) Athletic
(B) Swimming
(C) Gymnastics
(D) Boxing

ﬁmm@awﬁﬁmmmwmmﬁm?
(A) SRR
(B) Hrem

_(ey fermiton

D) < @

m#m@aﬁﬁmﬂmﬁ o forar on?
(A) Teeifeas

(B) TR

(C) fomfesa

(D) TeharSit

. <o, St ) e e s v
(A) teifem
(B) aU=ht _
(C) o
(D) gapaSit



48, Thesidesofa manglearemthe ratioof7:9:12. The

difference between the lengths of the largest and smallegt

sides is 15 cm. The length of the largest side is
(A) 12cm
(B) 24 cm
(C) 60cm
(D) 36 cm

4 fagres IRl T AT = 7: 91 12 7f%
HAEE @ A2 3R T (RITB! AE ST 15 om 27, O
G TS AR G Z(A 8

(A) 12cm

(B) 24 cm

(C) 60 cm

(D) 36 cm

@ﬁﬁa%a@%%lz%ﬁmﬁ% | gewH T

[ S F SR 15 cm & | FewH H1g H T A ¢
(A) 12cm
(B) 24 cm
(©) 60 cm
-(D) 36cm -

TS e ag 7: 9 : 12 3| WA o T Ead
ﬁmmlscmﬁnm-rwa@@

(A) 12cm
(B) 24 cm
(C) 60cm
(D) 36 cm

49. Choose the correct one word substitution of the
following sentence:
“A decision on which one cannot go back”.

(A) Incorrigible

(B) Irreplaceable
(C) Irrevocable

(D) Infallible
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50. 630items are divided among X, Y and Z in such
a way that X gets thrice that of Y and Y gets
5 times that of Z. Find the number of items received by
X, :
(A) 425
(B) 400
(C) 450
(D) 475

630f a1 X, Y 933 Z-97 00 91 ©l9 03
@em W @ X, Y937 (U3 fomed a2 Y, Z-99 (A
sHed &R ot | X Foafe & coimfea

(A) 425

(B) 400

(C) 450

(D) 475

630 SFGST 1 X, Y el Z H 50 wepr & e fapen
S e B X Y | 7 1o 2R Y 9 Z | wite 7on firem
T X F ffe g o2

(A) 425

(B) 400

(C) 450

(D) 475

630 SETH 9 X, Y, Z W1 7

T o
T S 9T, XA

il s wA?
(A) 425
(B) 400
(C) 450
D) 475
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51. If y = 3x + 12 and y = 5, then the value of x is 52. In India, supply of money is controlled by
(A) 3/7 (A) Ministry of Finance
(B) 7/3 (B) Reserve Bank of India
<G -7 | : (C) Finance Commission
D) -7/3 (D) State Bank of India
WMWy=3x+12@0y=5%, ST - A T 8 WWWWWWW?
(A) 3/7 ' (A) qum
- _B) 3 : 1B) oSN fawrs s
Eg - - (C) =i Ffapiy -
—7] :
: (D) ©IFS™ (66 IIE @
ARy =3x+12Tdy=579, ??Ixﬂ‘iﬁ'@l‘lﬂ ' R T SR e i P s 2
A) a7 - _ (A) o mera
(B) 7/3 i (B) ¥R g 3
(L) =7 (C) fom smam
Sk (D) W 2z i
Ay =3x+ 12y = 5@ % PrArF a0
(A) 3/7
(B) 7/3
© -7
(D) -7/3




53. When a number j 18 first increased
then reduced by 10%, the number

(A) decreases by 19
(B) does not change
(©) increases by 1%
(D) increases by 99

by 10% ang

40 TS T LA 10% asﬁmmﬂa 10%

ASIA W, o3 el
(A) 1% T
D) oz

©) 1% e
A
|

(D) 9% qre@
aﬁ@mﬁm%mﬁmmsﬁtmm%m
fean S & =% den
' (A) 1% =7 B St
(B) HHM @
(C) 1% =g STt
(D) 9% =% et

T3 WA IS 10% T2 T HR 109% Sz

(A) 1% ¥ &5
(B) ¥HA E®
(C) 1% 9D
(D) 9% =TB
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54. Inacertaincode “PROSE” is written as "PPOQE”
how is “LIGHT” be written in that code?

(A) LIGHT
(B) LGGFT
(C) LGGHT
(D) LLGFE

O

3 (I AFSFHTS “PROSE” & “PPOQE”
T4 2 01 GR SO SR “LIGHT” & Sreitg
TR I ?

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) LLGFE

Ll

g uw ﬁ%af-rﬁ:ﬁ“PROSE”aer“PPOQE”%f@T
ST ®, & “LIGHT” =1 1 feran smam? .
(A) LIGHT
4B) LGGFT
(C) LGGHT
(D) LLGFE

9 T W fefy w “PROSE” =i “PPOQE”
fera, “LIGHT” o =h ferftrmr st Sifigms?

(A) LIGHT

(B) LGGFT

(C) LGGHT

(D) LLGFE
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/i
n

SS. Satyajit Ray Film & Television Instituteis located

‘at |

. \ll !
(A) Ranchi ’j
©) Kolkata
(D) \Mumbai

nAToIfEre T e Syt G 2RoRTs e

e

(24

B?

(A) Fifs

(B) W&t _
(C) w=Tret @
(D) TR

et T firen Uvs eifen steg e feord

(A) =t
(B) feweit
(C) wieTeRmal
(D) =g

TSt T e 10 efifeem sieye e fea

(A) U=t
(B) feeedt
(C) hreTehran
(D) T
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56. ELISAtestisused todetectwhichofthe fﬂllOWing _

disease?
(A) Cancer
(B) HIV/AIDS
(C) Brain tumor
(D) Malaria

ELISA (B36f6 (@I (1% =G FACS AR IR 2
(A) IR '

(B) 3. Wiz, ./ «@3wy @

(€) &= g '

IRGIER)

ELISA 5= 57 % § 558 I =t ve=m & fore e
Sl &2

(A) FR
(B) TH. 3. Sfi/ugH

(C) 9° =R
(D) TeAfn

" ELISA 91 51 %7 farmmeat wnfir g2
(A) H |
(B) . 3T, Hi/uzy

(C©) 37 =FR
(D) "I

pe



57. The exact word which denotes the highest degree

of comparison to the word “strong” is

(A) stronger

(B) strongful -
(C) strongest
(D) strengthen

58. Choose the best prefix which matches with the
word “Spoken”? i B

(A) De

59.
below:

(B) Out
(C) Dis
(D) En

Fill in the blank with appropriate words gi.ven

A police team was __ to the case.

(A) formed, following .

_(B) constituted, investigate

(C) committed, study
(D) located, adjudge
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60. Evaluate the followingf

O  BIxy-16x4)
(16 x4) - (+/81x3)

(A) 1

(B) —11

(©) 11

D) -1

-  (B1x3)-@&/16x4)

(V16 x4) - (81 x3)

- (A) 1 :

(B) =11
- (© 11

- (D) -1

(‘@"3)‘(_‘%"4) =1 A Tt |
(V16 x4) = (81 x3) . .

(A) 1.

(B) —11

(&) 11

D) -1

e feuen! 3fsh =1 71 Fehrer
(/81x3)- (/16 x 4)

o 1 (\/16 x 4) - (\/81x 3)

(B) —11

© 11

D) -1




